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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – IV-EXAMINATION – WINTER 2015 

 

Subject Code: 3340602 Date:   17/12/2015 

Subject Name: Advanced Surveying 

Time: 02:30 PM TO 5:00 PM Total Marks: 70 
 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. 14 

 1. Write classification of theodolite.   

 2. Write Fundamental axis of theodolite  

 3. State advantages of tachometric surveying.   

 4. Write function of Anallatic lens.  

 5. Define Latitude and Departure.  

 6. Write formula for relation between radius and degree of curve.  

 7. Explain any one method for prolonging a straight line with theodolite.  

 8. Write advantages of transition curve and enlist its types.   

 9. Explain direct method of observation of trigonometric surveying.  

 10. Write Bowditch’s rule.  

    
Q.2 (a) Explain general method for measuring horizontal angle with theodolite. 03 

  OR  

 (a) Write uses of theodolite. 03 

 (b) A theodolite is placed 100 m distance from tower. Readings for vertical top 

angle is 150 and bottom angle is 20. Calculate height of tower. 

03 

  OR  

 (b) Explain steps for change of face in theodolite.  03 

 (c) Length of survey line and bearings of traverse ABCDA are as under. 

Calculate consecutive co-ordinates. 

Survey line Length in meter Bearing 

AB 80.11 S 50 W 

BC 95.81 N 880 W 

CD 80.44 N 80 E 

DA 91.59 S 880 E 
 

04 

  OR  

 (c) Explain closing error with figure.  04 

 (d) Derive formula for trigonometrical leveling when base of object is 

inaccessible and both instrument axes are at same level in same vertical plane. 
04 

  OR  

 (d) Explain with figure temporary adjustment of theodolite 04 

    
Q.3 (a) Derive formula for fixed hair tacheometer method when the line of sight is 

inclined and staff is held vertical. 
06 

  OR  
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 (a) From station A following reading were taken on vertically held staff: 

Statio

n 

Height of 

instrume

nt 

Staff  

held at 

Vertical 

Angle 
Readings Remarks 

A 1.52 
P +60 1.55  1.35  1.05 RL of Station 

A is 10 m. Q -30 2.00  1.72  1.44 

 Calculate Distance AP, AQ and RL of P and Q. Take constants 100 and 0.  

06 

  OR  

 (b)                                      Derive formula for Tangential method when both angles are angles of  

Elevations. 
04 

  OR  

 (b) In tangential tacheometer method from station A following reading were taken 

on vertically held staff on Station B. 

Statio

n 

Height of 

instrume

nt 

Staff  

held at 

Vertical 

Angle 
Readings Remarks 

A 1.42 
B 

B 

+30 

+50 

 1.65  

2.30 

RL of Station A 

is 20 m. 

Calculate RL of  B and Distance AB. 

04 

 (c) Explain field method for finding out tacheometer constants. 04 

  OR  

 (c) The staff position is 65m and 130m from instrument and staff intercept 

readings are 0.65m and 1.3m respectively. Calculate the tacheometer constant.     
04 

    
Q.4 (a) A simple curve has 200m radius and 650 deflection angle. Calculate  

(i) Length of curve (ii) Tangent length (iii) Mid-ordinate. 
03 

  OR  

 (a) Explain method for obstacles in setting out simple circular curve when Point 

of Tangency (T2) is inaccessible. 
03 

 (b) Derive formula of offsets from long chord for setting out simple circular curve 04 

  OR  

 (b) Calculate offsets at 5m distance for a simple curve 100m radius, 50m long 

chord and Mid ordinate is 3.17m. 
04 

 (c) Draw elements of simple circular curve with notations and write name of each 

components. 
07 

    
Q.5 (a) Write advantages and disadvantages of total station. 04 

 (b) Explain setting up of back sight in total station. 04 

 (c) Write and explain principle of tacheometer. 03 

 (d) Differentiate between Transit and non-transit theodolite. 03 
 

************ 

ગજુરાતી 
પ્રશ્ન. ૧  દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. ૧૪ 

 ૧. થથઓડોલ ઇટ ન ાં વર્ગીકરણ લખો.  

 ૨. થથઓડોલ ઇટ ની મળૂભતૂ અક્ષો ન  ન મ લખો.  

 ૩. અંતરકોણમ પન સવેક્ષણ ન  ફ યદ  લખો.  

 ૪. એન લેટટક લેન્સ ન  કયો લખો   

 ૫. રેખ ાંશ અને અક્ષ ાંશ ની વ્ય ખ્ય  આપો.  

 ૬. વક્ર ની થિજ્ય  અને અંશ વચ્ચેનો સબાંધ દશ ાવત   સિૂ લખો.  
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 ૭. થથઓડોલ ઇટ વડે સીધી રેખ ને આર્ગળ લાંબ વવ ની કોઈપણ એક રીત લખો.  

 ૮. સાંક્ર મી વક્ર ન  ફ યદ  લખો અને તેન  પ્રક ર લખો   

 ૯. થિકોણથમતીય સવેક્ષણ ની સીધી અવલોકનની રીત સમજાવો.  

 ૧૦ બ ઉટડચનો થનયમ લખો.  

    
પ્રશ્ન. ર અ ક્ષક્ષથતજ કોણ મ પવ ની સ મ ન્ય રીત સમજાવો. ૦૩ 

  અથવ   

 અ થથઓડોલ ઇટન  ઉપયોર્ગો લખો. ૦૩ 

 બ 100 મીટર ન  અંતરે થથઓડોલ ઇટથ મકેૂલ છે. અવલોકનોમ ાં ટ વરની ટોચ 
નો ઊન્નત કોણ 150 અને તક્ષળય  નો અવનત કોણ 20 છે તો ટ વરની ઊંચ ઈ 
શોધો. 

૦૩ 

  અથવ   

 બ થથઓડોલ ઇટની બ જ  બદલવ ન  તબક્ક  સમજાવો. ૦૩ 

 ક એક બાંધ મ લ રેખણ ABCD ન  પણૂાવતૃ બેટરિંર્ગ તથ  સવે લ ઇનની લાંબ ઈ 
નીચે મ જબ છે. તો ક્રથમકય મોની ર્ગણતરી કરો. 

સવે લ ઈન લાંબ ઈ મીટર મ ાં બેટરિંર્ગ 

AB 80.11 S 50 W 

BC 95.81 N 880 W 

CD 80.44 N 80 E 

DA 91.59 S 880 E 
 

૦૪ 

  અથવ   

 ક સમ પન ત્ર ટી આકૃતી દોરી સમજાવો. ૦૪ 

 ડ થિકોણમીથતય તલેક્ષણ ન ાં સિૂ મેળવો જ્ય રે ઉપકરણ નો પ યો દ ર્ગામ હોય 
અને ઉપકરણો ની અક્ષ સરખી ઊંચ ઇએ ઊર્ધવ ાધર  સમતલ મ ાં હોય.  

૦૪ 

  અથવ   

 ડ આકૃતી દોરી થથઓડોલ ઇટન ાં હાંર્ગ મી સયોજન સમજાવો. ૦૪ 

    
પ્રશ્ન. ૩ અ સિૂ મેળવો  સ્થથર ત ર ની રીત મ ટે જ્ય રે દ્રષ્ટી રેખ  િ ાંસી હોય અને દાંડ 

ઊર્ધવ ાધર પકડયો હોય.   
૦૬ 

  અથવ   

 અ થથ ન A પરથી ઊર્ધવ ાધર પકડેલ  દાંડ પર નીચેન  અવલોકનો લેવ મ ાં 
આવેલ  છે. 

થથ ન  
ઉપકરણની 
ઊંચ ઈ મી. 

દાંડ 
થથ ન  

ઊર્ધવ ાધ
ર કોણ  

દાંડ પરન   
અવલોકનો 

થવશેષ નોંધ 

A 1.52 
P +60 1.55  1.35  1.05 RL of Station 

A is 10 m. Q -30 2.00  1.72  1.44 

ર્ગણતરી કરો: અંતર AP, AQ અને P અને Q ની સ પેક્ષ ઊંચ ઈ. આચ ળ ાંકો 

૦૬ 
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100 અને 0 લો.  
 

  અથવ   

 બ સિૂ મેળવો થપશાકીય રીત મ ટે જ્ય રે બાંને ખણૂ  ઉન્નતકોણ હોય.  ૦૪ 

  અથવ   

 બ થપશાકીય રીતથી થથ ન A થી ઊર્ધવ ાધર પકડેલ  દાંડ થથ ન B પર નીચેન  
અવલોકનો લેવ મ ાં આવેલ  છે. 

Station 
Height of 

instrument 

Staff  

held at 

Vertical 

Angle 
Readings Remarks 

A 1.42 
B 

B 

+30 

+50 

 1.65  

2.30 

RL of Station 

A is 20 m. 

ર્ગણતરી કરો: B ની સ પકે્ષ ઊંચ ઈ અને અંતર AB. 

૦૪ 

 ક ટફલ્ડમ ાં અંતર મ પીને ટેકીયોમીટર ન  આચ ળ ાંકો નક્કી કરવ ની રીત  
સમજવો.  

૦૪ 

  અથવ   

 ક ઉપકરણથી 65 મી અને 130 મી અંતરે આવેલ  દાંડ ઉપર થટેટડય  ત રો વડે 
અંતટરત ભ ર્ગ  ન  અવલોકનો અન ક્રમે 0.65 મી અને 1.3 મી છે. તો 
ટેકીયોમીટર ન  આચ ળ ાંકો ની ર્ગણતરી કરો. 

૦૪ 

    
પ્રશ્ન. ૪ અ એક સરળ વક્ર ની થિજ્ય  200 મી અને થવચલન કોણ 580 છે. ર્ગણતરી કરો 

(1) દીર્ાજીવ ની લાંબ ઈ (2) થપશાક અંતર (3) મર્ધય ય મ.  
૦૩ 

  અથવ   

 અ સરળ વક્ર ન  આંકનમ ાં આવતો અવરોધ જ્ય રે થપશાકક્ષબિંદ  (T2) 
અપ્રવેશર્ગમ્ય હોય તેની રીત સમજાવો.  

૦૩ 

 બ સરળ વક્ર આકન દીર્ાજીવ  ઉપરથી ય મો દ્વ ર  ની રીત ન ાં સિૂ મેળવો.  ૦૪ 

  અથવ   

 બ એક સરળ વક્ર મ ટે 5 મી. ન  અંતરે ય મો ર્ગણો તેની 100 મી ની થિજ્ય  , 
50 મી દીર્ાજીવ ની લાંબ ઈ અને 3.17 મી મર્ધય ય મ છે. 

૦૪ 

 ક સરળ ર્ગોળ ક ર વક્રન  ર્ટકો દશ ાવતી આકૃતી દોરી તેન  દરેકન  ન મ લખો. ૦૭ 

    
પ્રશ્ન. ૫ અ ટોટલ થટેશન ન  ફ યદ  અને રે્ગરફ યદ ઑ લખો. ૦૪ 

 બ ટોટલ થટેશનની બેક સ ઇટ સેટ કરવ ન ાં સમજાવો.  ૦૪ 

 ક ટેકીયોમીટરનો થસર્ધધ ાંત લખો અને સમજાવો. ૦૩ 
 ડ સાંક્રમણીય અને અસાંક્રમણીય થથઓડોલ ઇટ વચ્ચેનો તફ વત આપો.  ૦૩ 
 

************ 

 


